Enterprise Problem: Lead Time

With 2 Assembly plants, how can you best show and visualize their lead
times and what is contributing to them?

A002
o #2
AST Plant

Processing :
Time 10 |CMin
RM Inventory 10 |[CDay
WIP Inventory 2 CDay
FG Inventory 3 CDay

Inventory 1500 CDay

0
Transport
Time 12 jonr
Transport 1 |ie
Frequency Wk

—| 0
N
Transport
Time 12 jonr
Transport 1 |ie
Frequency Wk
Wk Wk oday cday
]
c 7 5 8 24
-]
cday oday OHr CHr

A005

ATLAS Assembly, AZ

Processing :
Time 15 |CMin
RM Inventory 10 |[CDay
WIP Inventory 5 CDay
FG Inventory 5 CDay

Inventory 2000 CDay
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A008

ATLAS Assembly, NM

Processing :
Time 16 |CMin
RM Inventory 12 |CDay
WIP Inventory 7 CDay
FG Inventory 6 CDay
Inventory 2500 CDay

Copyright © 2015 The eVSM Group, All Rights Reserved

A001
o #2
Control
Activity
Customer
Customer Iltem
Demand 18000 Wk
Weekly
Weekly
A007 EQ
o #2
== E@ Il Il BN BN BN BN .
A009 1 I Transport
0 Time 05 |cHr
I Transport| | [T
Transport Frequency o
Time 5 [eow I
Transport Trip_
Frequency 1w I
A003
I o #2
' ATLAS
---------------*
Warehouse
-----.EO_OZEQ-_---------------------->
> 2 []
Processing )
Time 20 CMin
Transport
i 3 |coay Inventory | 12.00 |Cbay
Transport 1 |-
Frequency Wk

www.evsm.com



Enterprise Solution: Lead Time

Adding Summary boxes for each Path and the Lead Time chart.
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Enterprise Problem: Carrying Costs ol | M| oty | ey
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Problem: You want to estimate the annual carrying cost of the inventory in the cday | oday | OHr | CHr
plant. You know that the Cost of Capital is 8%, Inventory Obsolescence is 1%, and
Inventory Insurance is 1%.
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Enterprise Solution: Carrying Costs

Use the inventory value add-ons for all the centers and the Carrying Cost Factors to

calculate.
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